Revision Sheet 5 Worked Solutions

Q1.

(i) Any question that yields tfext data that
can't be ordered:

e.g. What is your favourite subject at school?
(ii) Any question that yields numerical data
that doesn't have certain fixed values

e.g. What is your height?

Q2. Any two of:

Sample needs to be large enough

Sample needs to be randomly selected
Sample needs to be representative of the
population

Q3.

Stratified Random Sample: The population is
divided into two or more subgroups with
similar characteristics and then a
proportional sample is drawn from each
subgroup. Would be a better choice than a
simple random sample, if you wanted to see
how opinions of particular sub-groups of the
population vary.

Cluster Sample: The population is divided into
clusters and then the clusters are selected
randomly. This method might be cheaper than
a simple random sample as the surveyor can
just travel to the clusters to gather data
rather than all over the country.

Q4.

(a)

(b)

Use clear and simple language

Avoid personal questions

Start with simpler questions at the start
Allow for all possible responses

Be clear where answers should be recorded
No leading questions

Advantages: Any one of: (i) Cheap (ii) responses
can be anonymous => more honest answers
Disadvantages: Any one of: (i) Questions can't

be

explained to the respondent (ii) People don't

always reply (iii) sample is biased as only people
online surveyed

Q5.
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(iv) Strong negative correlation

v)
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(vi)
Age (X) Vs Weight (Y)

Line of best fit
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(vii) (a) From diagram above, expected weight of
a 75-year old coin would be: 199

(b)

The expected age of a coin with a weight of

13.7g would be: 23 years

(vii
fit

i) Not particularly reliable as our line of best
is based on a very small amount of data (10

coins only) and the two values in the previous
question are not even within the range of coin

wei

ghts in the data. Would need a larger sample

size if we wanted increased reliability.

(ix) r = -0.9252. This fits with the answer to
part (iv) as it is a correlation coefficient
showing strong negative correlation.
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